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B700*D700
B 700 —] t1150 £ 55 5-D25(at 2533.5mm2), dt 73mm, pt=2533.5/(700*700)=0.00517
HOOP 2-D13@100, pw=2*126.7/(B700*@100)=0.00362
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D700 D11150 t1=150mm, D1=1150mm
#F5 2-D13@150, ps1=2*126.7/(t1 150*@150)=0.01126
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D H D UTEIERE Asy1=4900cm2 , 121=2000833cm4
MBS L TOBEAE Asy2=6625cm2, 122=14818411cmé4
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Asy=A2/A1=6625/4900=1.35
lz=122/171=14818411,/2000833=7.41
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‘ Y Ac ‘ AW > aAw ‘ 2 aAc ‘ 2 aAw' = ‘ @)= ‘ ZWAi
[mm2 x E-03] [mm2 x E-03] [kN]
1960 ‘ 0 199 ‘ 2263 ‘ 0 2082 ‘ 4432 ‘ 251

2 Aw=t1 150mm*D1 1150mm=173*10"3mm2
SR HEMHE 64388

RF 279Mu 2790 ho=3.75m (AIEFERERES) , M/Q=h0/2=3.75/2=1.875
332qu 3320u be=(B*D+D1*t1)/(D+D1)=(700*700+1150*150)/(700+1150)=358mm

pwe=pw*(B/be)+(D1*t1*ps1* o wyl)/(D1*be* 0 wy)
=0.00362*(700/358)+(1150*150*0.01126*295)/(1150*358*295)

1741Mu 5 668Mu, -556Mu =0.0118
2| -14837Nu Q -14837Nu, 648Qu
S 1575Mu /= 572Mu, -668Mu
F | -481Mu -481Mu
48TMu 48TMu
669Qu 669Qu
(1\ )\
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N —

ERIBRDBE

de=D 700+D1 1150-pt73=1777ram, je=7/8*de=7/8*1777=1555mm

M/(Q*de)=1.875/1.777=1.055

QuL=(0.053*(100pt)"0.23*(Fc+18)/(M/(Q*de) +0.12)+0.85*/ (pwe* o wy))*be*je+0.1N
=(0.053*(100%0.00517)"0.23*(24+18)/(1.055 +0.12)+0.85*y (0.0118*295))*358*1555/1000+0.1*29=1792kN

HHBIRDBE

d=D 700-dt 73=627mm, j=7/8*d=7/8*627=549mm

M/(Q*d)=1.875/0.549=2.99

QuR=(0.068*(100pt)*0.23*(Fc+18)/(IM/(Q*d) +0.12)+0.85*y (pw* 0 wy)+0.1* 0 0)*B*j
=(0.068*(100*0.00517)"0.23*(24+18)/(2.99+0.12)+0.85*/ (0.00362*295)+0.1*0.059)*700*549/1000=643kN

Qu=average (QuL, QuR)=(1792+643)/2=1218kN

SR FESSRE [10.3.5 RAMMEOE] , [10.3.6 MET 4]
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[mm2 = E-03] [mm2 % E-03] [kN]
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11.3.1 DsEERKEHBMIEFBEE [Ds+E0] Y1

RF -279Mu -279Mu
820 §520u
u u "
ho=3.75m (AEiwM&KS) , M/Q=ho/2=3.75/2=1.875

648Mu, B40My 667Mu, |-589Mu

3| -14837N}, 643Qu -14837Nu, 648Qu

a 586Mu, ["e+8ivia 621Mu, |-667Mu
1F -481Mu -481Mu
48TMu 48TMu
586Qu 586Qu

) e

HEEL L THhNE D, REMAOICEBRINELA,

Ef5RDGE

d=D 700-dt 73=627mm, j=7/8*d=7/8*627=549mm

M/(Q*d)=1.875/0.549=2.99

QuL=(0.068*(100pt)*0.23*(Fc+18)7(M/(Q*d) +0.12)+0.85*/ (pw* o wy)+0.1* 0 0) *B¥j
=(0.068*(100*0.00517)"0.23*(24+18)/(2.99+0.12)+0.85*y (0.00362*295)+0.1*0.063)*700*549,/1000=643kN

ARI5IROBE
Cill=

Qu=average (QuL, QuR)=(643+643)/2=643kN
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